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COMMERCE
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
guestions are compulsory.

1. Put the following steps of strategic Negement Process in correct sequence :
a.  Scanning and Evaluation of Business Environment
b.  Formulatingstrategies
c. Implementation of Corporate Strategy
d. Deciding about the Migm of the organisation
e.  Setting Corporate Level Objective

Codes :
(1) a,b,c,dande (2) d,a,b,cande
(3) d,a,e,candb (4) d,a,e,bandc
2. Match the items of List-1 with those of dtill and indicate the code of correct matching.
List — | 4 List=1I
a. Indian Railways I I,-'fGovernm.ent Company
b. Unit Trust of India ii:’ Department Undertaking
c. Bharat Heavy Electricals Limited [iii. Stafutofy Corporation
Codes :
a b c
Q) i i iii
(2) i iii [
(3) i i iii
(4) i i [

3. ldentify the correct statement from the following :
(1) The liability of the Karta is limited.
(2) A joint Hindu family business continues to exist on the death of a co-partner.
(3) A joint Hindu family business ceasesexist on the death of the Karta.
(4) A joint Hindu family business comes into existence by Hindu law.

4. Statement | :*“Working in harmony with the community and environment around us and
not cheating our customers and workersmight not gain anything in the short run
but in the long term it means greapeofits and shareholders value”.

Statement Il : According to Mahatma Gandhi, capitaldass owns wealth or capital as
trustees of the society.

Codes :

(1) Statement |is correct, but Il is incorrect.

(2) Statement Il is correct, but | is incorrect.

(3) Both the statements | and Il are incorrect.

(4) Both the statements | and Il are correct.

Paper-Il| 2 JA-008-17
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PAPER — Il

W 9 UvT § UeEN (75) 98- fashedE W § | Welish U % &t (2) 37 € | |l e A ¥ |
1. ORI Ueie Tishan & fFifera =Rot T el SFehT o1 & 2

a. SAEIge ATdTeRoT S Whi-T T Yo

b. IOl AR AT |

C. HMURE IUHIT S HRETEI |

d. A & MeE & IR | Mo & |

e. HURE WRIT ST (iia & |

T

(1) a,b,c ¢Re (2) d,a b, eRe

(3) d,a e &b (4) d, a e bivc

2. gEl-1 B AR 1 GEl-11 S T&T o Qe T b T et et aret § 1 9a Y |

= — | L [ %

a. 9RAE I i WA 7

b. 9RA™ e = i, fovmiE SwmRE |

C. WA ¥ wigEew s il ity

%
a b c

1) i i i

) ii i i

@3) ii i i

() iii i i

3. =Ahd § ¥ WEl o H T
(1) i Sl Igar HHd g & |
(2) THEr S &g UNER %1 Fa9E Ge-9riieR & §og §iH W% S § a7 el € |
(3) T feg URaR @@l il GoJ & W e | 78l W & |
(4) T feg uRaR FaaE &g A §RT1 &l e § e & |

4, ®UA | U3 WU % G qAT ACER0 & 91 HESR B R Hh a0l UMeehi el

FHHARET o T TeA Tel Hh &6 DIl AT H F U el & Tehell & AT ey o
THT 31 & AT o TS IIRERE gt 17

FHUA || ;T M % SR Ut 9 qHST & A % €9 H ot 31 IS 1 @t ghar
Tl

%

(1) FAITEE, P TEd & |

(2) FANTEE, g1 Tod g |

(3) FuT1 3R I I Tord € |

(4) w1 AR TIE |
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5.  Match the items of List-I with items of &fIl and indicate the code of correct matching.

List— I List -1l
a. Principle of Separate i. Valuing Plant and Machinery at cost less
Entity depreciation.
b. Principle of ii. Recording punctu#dly and honesty of
Conservatism employees of an organization.
c. Principle of Money iii. Capital contributed by proprietor is shown
Measurement as liability in Balance Sheet.

d. Historical cost concept iv. Valuirigventories at cost or market price
whichever is less.

Codes:

a b C d
Q) iii ii [ iv
(2) i iv ii [
3) iv iii i ii
(4) iii [ i iv

6.  Which of the following is not true ?
(1) When all the forfeited shares are nao$seed, the forfeited shares account will also
show as credit balance equal to gairfanfeiture of sharesot yet reissued.
(2) Loss on reissue of shares cannot be rti@e gain on forfeiture of those shares.
(3) At the time of forfeiture of sharesecurities premium is #ed along with share
capital when premium has not been received.
(4) When forfeited shares are issuedpamium, the premium amant is credited to
Capital Reserve Account.
7. Preparation of consolidated Balance ShettHolding Company and its subsidiary
company is done as per

(1) AS11 (2) AS21
(3) AS22 (4) AS23
8.  Amount due to outgoing partner isostn in the balance sheet as his
(1) Liability (2) Asset
(3) Capital (4) Loan
9. Maitch the items of List-I with items ofList-Il and indicate the code of their correct
matching.
List=1 | List — Il
a. Non-price quantity relationships. Extension and contraction of demand.
of demand.

b. Income effect of a price risei. Ordinal utility approach.
greater than its substitution effect.
c. Transitivity and consistency ofii. Increase and decrease in demand.

choices. |
d. Price-quantity relationships of iv. Giffen goods
demand. |
Codes :
a b C d
Q) iv i i [
(2) i i iv iii
(3) iii iv i [
4) i i il iv
Paper-Il| 4 JA-008-17
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5. gell-1 0 A& 1 Gell-11 § THe ST wad 98t et o e %1 99 i ;

=t - | = — |l
a. guF e 1 i i T W AT SR WAl %k Yod W ¥ g
dclent Hedlen opRHl |
b. wearsar & fagia ii. TRl GeT % FURET H T B UEET AR
AR T ol T |
C. TSI A T fagia iii, AT FRT OIS TE ST i oM fag St
% ®T H @R e |

d. TR AT STEEReT v, W H HedihT AnTd 3Tl ISR Jod | 9
ST off W &I, 39 W T |

F:

a b c d
(1) iii ii [ iv
(2) iii iv i [
3) iv iii i i
(4) iii [ il iv

6. frifha § @ BF W& TEI & ?

(1) & ol ST 6w T AN A GAHITET T@l fFE S € a9 i Sed @i | ndt d%
YA el {ohT 7T STad 3791 & I o SRR Shige 91 eI/l S |

(2) 3T & YAFTEA T @1 Sied T T 379 W g A & 31T el &l el § |

(3) 3PN I STed A & THA Wl MR W B 379 ISt o 9 2fae R ST €, 59 39
TR I i U el R T

(4) S/ ST T T SO T WIS W SR {ohar S €, o« Witaay qf¥r o Ot g @ 5
e fpar ST g |

7.  TAER SO X SHRN SFUTR HUHT T GHIR T fagr Fefeiad 7 9 fhds AR R
IERIISIIRAR

(1) <@ J=e 11 (2) @ qHE 21
(3) I T 22 (4) orEiH " 23
8. TR M el WRER & 37 M 374k fog H TR &l ST 39
(1) M= HETH (2) wHfaFETH
() THFHFETH (4) FOFHFETH
9. gHl-I B TR Bl Fell-1I ¥ AT HISTT SR 39 Fel oA b He T T4 DT |
Bk B =t - I
a. T T IR Y HeY i, T foRAR SR e
b. qoa g [& ' W@ UNE TTH ii. ANE ST SUFTH
T TTE & 311 gt & |
c, foreheat ot FeRTehdT ST T jii. O A iy X A
d. o Gd-AET GaY iv. P o
%
a b c d
1) iv i i i
) ii i iv i
(3) i iv i i
@) i i i iv
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10. The short-run cost functiaof a firm is as follows :
TC =200 +5Q + 28
Where TC = Total Cost
Q = Physical units of the product of the firm
What would be the level of optimum output ?
(1) 05 (2) 10
3) 12 (4) 15
11. Short-run demand and total cost fuons for a monopoly firm are as under :
Demand function : Q = 100-0.2P
Price function - P =500-5Q
Cost function : TC= 50+20Q +Q
Where Q = Total quantity of the product in physical units.
P = Price of the product per unit
TC = Total cost
What is the profit maximizing output of the pure monopoly firm ?
(1) 20 (2) 35
(3) 40 (4) 50
12. In which one of the following market sitii@ns, the pricing above the prevailing market
price is used as a more common practice ?
(1) Markets where the selling firnface perfect competitive situations.
(2) Markets where the selling firms wantgain popularity ofthe products having high
cross elasticity of their demand.
(3) Markets where sellers rely on thaustomers’ high praggnsity to consume a
prestigious commodity.
(4) Markets where the selling firms haenmtered into the stages of maturity and
saturation.
13. Which one of the following statemenssfalse regarding normal distribution ?
(1) Mean, Median and Mode always coincide.
(2) Withint+ 1.960 limits from Mean value, the aremder the distribution is 99 percent
of the total area.
(3) The area under the normal curv@resents probabilities for the normal random
variable and the total area for the normal probability distribution is one.
(4) For every pair of values of Meaand Standard deviation, the curve of the
distribution is bell-eaped and symmetric.
14. If unexplained variation between variablesakd Y is 36%, what is the coefficient of
correlation between the variables ?
(1) 0.36 (2) 0.64
(3) 0.60 (4) 0.80
15. Which one of the following is the formula talculate standard emof mean differences
of two sample groups ?
2 2
Sp %1, %2
o 7 @ \[n*n,
2
%1 2. 2 Py P
3) Gg whenc] <o (4) n, + n,
Paper-lli 6 JA-008-17
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10.

11.

12.

13.

14.

15.

forlt e 1 STeTeRIfeTe AT Uehrd e &
. TC =200+5Q + 28
TRl TC =% AT
Q =TfT=M % 3 ! AT THILAT
Al SFPHeITH SIS T TR T &I 2
(1) 05 ) 10
3) 12 4) 15
Tt TeRITPR I Sl STeushiieTsh BT T el NI Uehrd e €
omuEE : Q = 100—0.2P
HmAATEE © P = 500-5Q
aa e TC=50+20Q+8©®
SRt Q = IR Ff Wi THEAT I Fot T
P = 30U &l Uid IS HEd
TC = FoT @
& UHITHHR TS T AT- STIHAHHIUT SR T BT 2
(1) 20 (2) 35
(3) 40 (4) 50
frfeiied 5 ¥ fhg SR et | foeme SR e d 31 goa HURoT @t e SFa8r
HET ST & 2
(1) IR 59w fasha e aret UidemT i qor ufaeret feafaat s QT 21 ggdr ¢ |
(2) R ST fasha w3 ot afaem 31ue STATET St T i IT9/SAEl g o HROT 30
IR 1 AGg T T & |
(3) IR et TashdT fordt fdftad aReh SUHT - Tadl 30 UTeehl ol a8 Jgrd WX R
B |

(4) IR ST fasha R STt Uiqem IRueEdT S Sgitd & ko7 § JosT $d § |

T TR & Tay | fEfeied 9 9 % 91 S me g ?

(1) e, Wi R SgeT e Hel @ ¢ |

(2) T oot o HHTeT ¥ + 1,960 faR0T % S ST ATl &7 T &1 B 99 WA ¢ |

(3) WHT Ik & AT ST ST & TR AGTedh TR o [T Tureardret bt e & 31X
=T ST feRoT T et &7 U & |

(4) T 3R 9 o & Jodi & U I & fow foeRer 1 Ak 5 % SRR 3R
TR B § |

g X 3R Y =R % o T foeror 36% € o =R & s 0Tk T Teqay T § 2
(1) 0.36 (2) 0.64
(3) 0.60 (4) 0.80

frfafad 5 & 31 ufdeet THgl & Jred 3R ol 7S (S AT % [0 fhe T 61 9= w2

(6}
_b 1, <z
2
Oy P4, B4,
3) gaacimg (4) —— 4
2
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16. A researcher wants to test the sigrafice of the difference between the average
performance of the two small sized samplghen the information of the population
standard deviation is not available, whione of the following hypothesis-testing is
suitably used ?

(1) Z-test (2) Chi-squarest
(3) F-test (4) t-test

17. Which of the following statements are moirect ? Indicatéhe correct code.

Statement | : Organizational culture means the gaheattern of behaviour, belief and
values that organization members have in individuality.

Statement Il : As per contingency theory of Leaidhip, people become leader only
because of the demand of group members.

Statement 1l : The group judgement can only be obtained through the formal
committees.

Statement IV : Ombudsperson in communication ftioo is a person assigned to
investigate employee concerns and palowg valuable upward communication link.

Codes :

(1) Statements |, Il and IV (2) Statements |, lll and IV

(3) Statements I, Il and Il (4) Statements II, lll and IV
lr- ||

J
18. Assertion (A) : The organization is a closed systemtthperates within and interacts with
the external environment.

Reasoning (R) :The system approach to managemetitiages the outputs from the external
environment on the basis ioteractions between magement and employees.

Codes : )

(1) (A) and (R) are correct and)(R the correct reasoning of (A).

(2) (A) and (R) are correct, but (R)nst the correct>@lanation of (A).

(3) (A)is incorrect whilgR) is a correct statement.

(4) Both (A) and (R) are incorrect.

19. Match List-I with List-II relating to corporatethics and indicate thmode of their correct

matching.
List—1 List—1II
a. Utilitariam theory  i. Behaviour guiding statements.
b. Code 4 - ii. Making public known about unethical
' company practices.
c. Whistle blowing iii. Society with varied interest groups.
d. Pluralistic society iv. Evaluatiaof plans with its consequences
Codes :
- a b c d
@ i il iv i
(2) i il iv [
(3) iii [ i iV
4) iv [ i iii
Paper-Il| 8 JA-008-17
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16.

17.

18.

19.

T IMHAT T 0T MHR P UARTT  SHT FIGT o o o 37 P Te<d BT Il T drell
&, STa SHEE 9 faee & GO Suets @l & ad FeEfeiad § 9 6 HeheunT-uRieTor S
ST AT ST ST 2

(1) Z=Reor (2) FHE-TERET TeT0T

(3) Foderor (4) t-oeTor

feAifera o I ¥ o WEl TEl € 2 Wel H H AT B

FHUA | TS G H1 31 § TR, [aver U Hedl H WHE UaEy St 39 e &
TEEIT 1 WA WEY Bar ¢ |

HUA || ;I o SHRHDA (GFIT P TR TR AT haleT FHE & FSET Dl AT o HROT &
BT E |

FUA ||| : THE MU Sheet e A o Ared & W fohar ST Tehell € |

FUA |V ;. TGO FE H AT Uh AT gl ¢ 519 SHHART A9 S Sird 6 T

TS S HeAE ol UST T BT e Hir ST € |

T

(1) FAI ARV (2) =, Nl AR IV

() HAI, Il I (4) ==L SRV

p ]

ATHIT (A) : TS U S YOI ¥ S SRT Weerd Bt & qor sTer uRder % @ s
HA |

qF (R) : TEET & oF SINFTH | YeE T HEANET & He ST RhAret & UR W el uiesT ¥
T TROTHT ST FEATAd fhar STar € |

- T

(1) (A) 2R (R) T & & 3R (R), (A) T AR |

(2) (A) 3R (R) I @&t €, & (R), (A) i T&t =AM F61 & |

(3) (A)Td &, STafh (R) W&t A & |

(4) (A) 3R (R) I Tord € |

Tt Afder-eme & Heifud Te-1 T Gei-11 1 e Y 7 et Mo ot e 1 =ae
=it || = — I
a. SUTElE! fagT i, SRR At weE
b, dfear 4 ji. ST Ul EROT & TR H @ i ghed
f Y FHEAT |
c. f=aet =g jii. o TS Sy fafr= fed agg €
d, SECTTSr FHTST V. ST T 3 IR Afed Jodish
%
a b C d
1) i i iv i
) ii i iv i
@) ii i i iv
(4) iv i il i
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20. Find out the correct sequence of plaxgniunction of the following elements :

a. Diagnosis of opportunity

b.  Establishingbjectives

c. Indentifying and comparing alternatives

d. Formulating derivative plans

e. Choosing an alternative

Codes :

(1) a,c,b,ed (2) b,e,acd

(3) a,b,c,ed (4 a,b,c,d e

21. Creating the capability of making purchases directly from a firm’s website is known as
(1) Electronic Networking (2) Electronic Transactions
(3) Electronic Data Interchange (4) Electronic Information Transfer

22. For the following two statements of Astien (A) and Reasoning (R) indicate the correct
code :

Assertion (A) : The self image could be an indiual’'s own perceived image and actual
image based on how othgysrceive the individual.

Reasoning (R) :Large number of products like crediards, automobiles, readymade
garments, designer ware, cosmetics andupsgb are bought due self image and
demographic variables like income may betimportant in purchase decisions for
these products.

Codes :

(1) (A) and (R) both are not correct.

(2) (A) is correct, but (R) is not correct.

(3) (A)is correct and (R) is correct explanation for (A).

(4) (A)is not correct, but (R) is correct.

23. Match the media factors given List-l with examples give in List-1l and indicate the
code of current matching.

List—1I List—1II
a. Mediaclass i. Prime time at 9:00 PM, full page ad of Honda City
b. Media vehicles ii. Magazine, T.V., Radio
c. Media option { lii. Flighting, Pulsing
d. Scheduling & timing iv. Times of Indid,V. serial Bhabhi Ji Ghar Pe Hain
Codes :
a b c d

Q) i \Y [ iii

(2) i [ iV i

3) i i v iii

4) iv i il [

24. In integrating speciadt functions of product managemeuwth the line function of sales as
major challenge to top management dam achieved by which type of marketing
organization ?

(1) Functionabrganization (2) Territorial organization

(3) Matrix organization (4) None of the above

Paper-lli 10 JA-008-17
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20.

21.

22.

23.

24,

AT ST o IR SHIRehl o Tal STehH 1 Ul T
3TIER Hf T BT |

IEYAT I TIOAT FHAT |

fershedt st TEET ST Y T AT |

P AT AR AT |

e foehe T T8 LT |

I‘)

® o0 TR

B !
(1) a,c,b,ed (2) b,e,acd
(3) a,b,c,ed (4 a,b,c,d e

Tohdll T ! JaHTEE | WY T F TIT I i 47T 30~ L i el &
(1) 3o Heafh (2) oIS TR

(3) oI ST TUTTS (4) TARITH THUEIE AR

3R (A) 3R @ (R) % Fefefad 31 w2 o fole T8t e &1 =97 1

AR (A) ;20T i ot safad @ o Sifud Sfa & g € Y ardfas sid 39 9 W
MR et &, ST 3EL AT 39 T & |

A% (R) : hiee HIe, NSHEE, 54 §U 95, [eoeR 93y, W< T 31¥ 3 519 T 9
SR T B BT % HROT GRS S € TGN 3T S STHHDE [TeR 37 ST & 5 o §

Te<aul Tél & Wb |
—

(1) (A) 3R (R) I Tt T&l & |

(2) (AT E, g (R) T TRl ¢ |

(3) (A)TE & 3T (R), (A) FT Tl WL E |
(4) (AT T ¢, W (R) T ¢ |

g1 7 KU T Hitear geent F Hem gEt-1 | KT M0 3TN | H 0o Tl HeTH % F H
T HY |
e — | ’ = — |l
Aifear sl o A, 9:00 R UTEH IEH, BieT (9 W X IS I forio
difgmares ¢ i o e, e
e fawer i, oo SeM, @@=
S SR THT V. T 311 Efea, 2o, Hikaer anft St R W E |
freRer 4

a,
C,

apop

%
a b c d
1) ii iv i i
) i i iv i
(3) | i iv i
) iv i i i
Torersiend Tehmat o WHEA H ¥ T o qHeT T gAaal & €9 H O o A W & 9
IS YU {ohd TR o {oqur GieT | ure feRan ST Fehdl © ?
(1) VRS e (2) T T
(3) dfewa TmeA (4) SR ¥ F HE T@l
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25. Assertion (A) : The important aspect of dividend @yl is to determine the amount of

earnings to be distributed shhareholders and the amount to be retained in the firm.

Reasoning (R) :Dividend policy of the firm has itdfect on both the long term financing
and the wealth of shareholders.

Codes :

(1) (A) and (R) both are correct and) (R the correct explanation of (A).

(2) (A) and (R) both are correct, but (R)not the correct explanation of (A).

(3) (A)is correct, but (R) is wrong.

(4) (R)is correct, but (A) is wrong.

26. Match the items in List-l1 with items in Li$kand indicate the codef correct matching :

List — | List— 1l p
a. ABC Inventory Controli. Developing ancillary units around the
System manufacturing sites a!nsupplyiipg parts to
manufacturing units.
b. Just-in-time (JIT) System ii. Erlas a company to.easily track large
items of inventory. -~ .
c. Out sourcing System iii. It elimites the necessity of carrying large

inventorigs and saves carrying cost.
d. Computerized Inventoryiv. Tends to measure the significance of each

Control System item of inventorigs in terms of its value.
Codes :
a b C d
() i ii [ \Y
(2) iv ii iii [
3) iv iii [ ii
(4) iii [ ii \Y
27. In certainty-equivalent approach, ra#fjusted cash flows are discounted at
(1) Accounting Rate of Return (2) Internal Rate of Return
(3) Hurdle Rate (4) Risk-free Rate
28. ‘That personal leverage can reggeacorporate leverage’ is assumed by
(1) Traditional Approach (2) M M Model
(3) NetIncome Approach (4) Net Operating Income Approach

29. Match the List-1 with List-Il relating tdHuman Resource Planning activities and indicate
the code of correct matching.

List — 1, = List—1I

a. Forecastiig 1 i. Optimal employment
b. Inventoryihg ii. Development activities
c. © Anticipating manpower problems iii. Mathetical projections of industrial trends
de Planning|programs iv. Projectipgesent resources into future
Codes :

a b c d
Q) i i iv iii
(2) i \Y ii ii
3) iv ii [ iii
(4) i [ iV i
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25. ATqHAR (A) : AT il FHT TH Hewaqol Tae] IR Dl o i ST arelt 3T St reT
3R Ui & U ST T@ aret AT o6 (o S & |
% (R) : [t Ui ot AT =it 1 woTe Seehiiereh famaiooT S SR & 6 UT &Il ¢ |
FHT:
(1) (A) 3T (R)IA Tel & 317 (R), (A) T Tel TLEIHT & |
(2) (A) 3T (R) I Tel &, g (R), (A) T el Tl Fal & |
(3) (A)TE T, TG (R)ToH € |
(4) (R)TEE, WI (A) TEd & |

26. -1 B 931 BT MHAH Gell-11 ¥ HIT 3R Gel B T =9 HITT :

= - | = - |l
a. TEIE! el shelet s i.%ﬁﬂﬁ@ﬁ%mwwmg
%ﬁﬁﬁﬂﬁ?%ﬁﬁm%ﬂﬁaﬁgﬁ
3MYFA AT |
b. Se-E-erEd (JIT) fawew i W%ﬁﬁwa\%ﬁaﬁa@hﬁaﬁmﬁ@
T ST H e S |
C. ITSTHIT fowed ii. %a@m@wﬁ*aﬁwaﬁw

A & WEr, T AT 9 e e €
d. FHETT TR Hhel fa=T v, A %1 T T % Tod o HIH H IAH

q@%aﬁm%
FT
a b c d
1) i i i iv
@) iv i i i
@3) iv i i i
() i i i iv
27. Ffvacan aHewT SUmH § SifeH FHIEd q6s Targ i Efeiad § 9 e w agT fear S ¢ 2
(1) wfawer sl @i X (2) VA% St SARD T
(38) s (4) SifE" 9o
28. ‘T AT wliast, HURE oSt T Afqeiud s Gebel & 1" 1 UiauTe- fohad fehar T o1 2
(1) WREE U™ (2) THTHHEA
(3) Foet o U (4) Toet aREeH ST SR
29. T TR FISHT AR & Tetd gei-1 3R Gei-11 6 e Y 31T T&t e & 997 B |
~ = - I
a. Wﬁﬁ{( i, Swdm IR
b. & gl AR HAT ii.  forepra nfafatet
C. SRS ol qHET ST Yaihe iii. SN T & T STHE
i AT BB iv. wioe H oA SETEHT 1 ST
T
a b c d
1) ii i iv i
2) | iv i i
@3) iv i i i
@) iii i iv i
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30. Which council was established in India byvernment of India inthe year 1966 to
promote safety consciousnessong workers in industries ?
(1) Factory Advise Council (2) National Safety Council
(3) NationalindustrialCouncil (4) Safety Regulations Council
31. Assertion (A) : Recruitment is positive while setean is negative in its application.
Reasoning (R) :Recruitment aims at increasing tlob jseekers while selection rejects a
large number of unqualified applicants.
Codes :
(1) (A)is correct, but (R) is not correct.
(2) (A) and (R) both are correct, but)(R not the right explanation of (A).
(3) (A) and (R) both are correct and) (R the right explanation of (A).
(4) (A) and (R) both are incorrect.
32. Match the List-l with List-1l relating to Soal Security measures in India and indicate the
code of correct matching.
List — | _ dList —1II
a. Social Assistance I. Payable workers in accidents & injuries
during @mployment.
b. Social Insurance ii. Covensdividual risks primarily.
c. Commercial Insurance iii. Maternity ienefits.
d. Workmen’'s Compensation iv. Provident ds
Codes :
a b c d
() i iV i [
(2) iv iii ii [
3) iv iii [ i
(4) i i il iV
33. Match the following items of List-I with theems of List-Il andindicate the code of
correct matching.
List = | List -1l
(Name of Bank) (Year of establishment)
a. IFCl i 1981
b. SIDBI \ ii. 1982
c. NABARD | iii. 1948
d. EXIM Bank iv. 1990
Codes :
a b c d
(2) i [ i iV
(2) iv ii iii [
3) iv iii ii [
(4) i iV i [
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30. S H HHIRT % e GRET SRkl Sl Jgidl 3 % [t 9Rd TR gRT a9 1966 H 9Rd |
forr aog, Bt TIToT B T ot 2
(1) HREH AR TREg
(3) LR TR aREg

(2) T gRe UReg
(4) g fafae ooy

31. fU®YA (A) : SN § ol RIS &, STalfeh 9 THRIHS & |
qF (R) : T BT 32T A T ATl Bl AT TSI BIT & STaih 9a o P! 9@ §

e R e €
ETE
(1) (A T e g (R) T TR & |
(2) (A) 3R (R) AN T €, R (R), (A) FT Tl WL el ¢ |
(3) (A) 3R (R)IT Tl &, 31 (R), (A) HT Tel T & |
(4) (A) 3T (R) I TTord € |
32. YRA H WIS GRET SUME o T H GeAl-1 1 6T Gl-11 3 91 L 3R Tl F H 997 H |
=t - | s CLEY
a. WIS TErdT i, SFIR B @R eIl T2 geled & T HHR
T )
b. T dm i, T w G S o SiiE o R R ¥ |
c. aforiees dm i, T o
d. R &t etfagfa iv. wfersT f4fa ;
FT:
a b C d
(1) iii iv i i
(2) iv ii i i
() iv ii i i
(4) i i ii iv
33. i1 1 WRI I G-I 1 6T o TN G Y 2 el AT aed e bt = Y |
=t - | = - |l
(I 2F] =) (FTTT TH)
a. 3w e i. 1981
b. fasst | ji. 1982
c. @IS - jii. 1948
d. i S iv. 1990
FT !
a b C d
(1) iii i i iv
(2) iv i ii i
(3) iv ii i i
(4) iii iv i i
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34. With a view to encourage newer class#sentrepreneurs and bringing about wider
dispersal of ownership andmtrol of industrial undertakingdDBI operates a special
scheme for supplementing the equity cdmition to projects made by small and new
entrepreneurs. This scheme is known as
(1) Bridge Loan Scheme
(2) Soft Loan Scheme for Modernisation
(3) Technical Development Fund Scheme
(4) Seed Capital Assistance Scheme

35. Which one of the following is not the objective of UTI ?

(1) To give everyone a chance to indiredyn shares and securities in a large number
of select companies.

(2) To maximise mobilisation of peoplessivings by making insurance linked savings
adequately attractive.

(3) To channelize the pooled savings into productive outlets.

(4) To mobilise savings of the community by offering savers the triple benefits of
safety, liquidity and profitability of investments.

36. Under which of the following schemes, tHeCl procures equipment for an actual-user
industrial concern by making payment to tmachinery/equipment supplier, and then
resells/transfers the equipment to the actisaindustrial concern at the same cost,
subject, however, to any lialy arising out of taxes and lwar levies, being put to the
account of the actual usedustrial concern ?

(1) Equipment Credit Scheme (2) Equipment Procurement Scheme
(3) Equipment Finance Scheme (4) Scheme of Equipment Leasing
37. Match the items of Listvith List-1l and denote the code of correct matching.
List—1 4 | List — Il
a. International Bank for Recofistruction and Development  i. 1945
b. International Finance q;qlipération ii. 1956
c. Asian Development Ban iii. 1966
d. Export-Import Bank of India iv. 1981
Codes :
a b C d
Q) i i iii \Y
(2) iv iii ii [
3) i iii i iv
(4) i i \Y iii

38. Assertion (A) : International Finance Corporati (IFC) contributes to increase
sustainable agriculture opportunities, ilmype health and education and increase
access to financing for micro finance and business client.

Reasoning (R) :The IFC has focused on a set of depenent goals to ensure that its
projects are expected to achieve the target.

Codes :

(1) Both (A) and (R) are correct, but (R)not the correctlanation of (A).

(2) Both (A) and (R) are correct and)(R the correctxplanation of (A).

(3) (A)is correct but (R) is incorrect.

(4) Both (A) and (R) are incorrect.
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34.

35.

36.

37.

38.

ST o AT N Bl WIed FH qAT ST STHAT & @i e =m0 & 31ty oo
A & I W O TN A JAHA FRT T Te IRASHIS H FHAT SFEH o ST &% [0
3TE 2 &t 3ME U e A1 Teferd wRaT & | T8 AT (it 8 o A & ST STl & 2
(1) Tt o= asn (2) YR & feTT 3R H0T

(3) ARt Torhr ffer A (4) < UST HeTEAT T

TeAifeRe o & I g 2 3TE 1 329 el § ?

(1) S T 4 g1 Hua B IR a0 uiaaiaat & ST Wihed % fow T i 3T
T

(2) T e Sl S TAT € W TR S oAl Tad o ST i SR AT |

(3) UHHIT STEdl i e HTEHT H I |

(4) STEdHRATST BT ORI BT YR, TRAT qAT ATIVGAT & {Fey AT Bl UIHI HY TS
Al I ST |

fr=iferd O @ {6 IIoFT o 3T oM UW | ST andiash-SualTehdl el Huet % o

YT | ERIE HIRI/STHIOT ATYIqehal ol ST ek Il § a9l T4 a5 SHT o T

SUHIT i SATTF STANTHAT STENTTF HUAT T STHTUT Tt GATSIShY/ SR FLATALVT el &, S {6,

T, BRI T 3T SIURTN o 3T Bl & 519 ardforsh SUanTehd! it -t & @ &

gt femar ST & 2

(1) ST A Il (2) IUHIOT TN FST

(3) USRI faa A (4) SUHOT g W T ST A T

G-I 7T BT GA-11 % T GAfeTd e a2 oA % T&t e =97
T - | wh-n g

a. AR AR e foehr o 4 0. 1945 f“

b. s fam e Sii. 1956 |

C

d

. U e S K f iii. 1966

. R s e dw YA iv. 1981

T
a b c d

1) i i i iv

@ v i i |

@) i i i iv

@) i i v il

AR (A) : AL fore T (STE.UE ) Tad HT TR | iy i, e o7 oren
YR T q4T GoHiad T8 HRERT AEeh o 10 [Gearor s gerqar ¥ ghg H § aEe
FATE |

% (R) : 3T U 9 7 96 oo o Ush THg W & hisd ha1 & dlfeh I8 gHrvad forar s
Tk Toh 3! URATSIHIETT 5T o162 3 ATl Hd ol ST &l STt & |

T

(1) (A) 3R (R) I Tt &, &g (R), (A) Ft T&t =amen T8 € |
(2) (A) 3R (R) 3 W&l & 3% (R), (A) i T8t AT T |
(3) (A)WE g, fhg (R) T € |

(4) (A) 3R (R)IH Toid & |
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39. Under TRIPS Agreement, patent is granted subject to which of the following ?
a.  The product or the process is hew one.

b. It contains an inventive step.

c. lItis capable of industrial applicati for 15 years from the grant of the patent.
d. Itis capable of industrial applicatifor 20 years from the grant of the patent.
Codes :

(1) Onlyaandb (2) Onlya,bandc

(3) Onlya,bandd (4) Onlyaandd

40. Statement | :During the period of prosperity, pgs of goods fall and income of people
go down. These changes in incomes of thapfeeand prices ajoods affect exports
and imports of goods and therebfluence the balance of payments.

Statement Il : Secular disequilibrium ibalance of payments occur because of short-run
changes in an economy.

Codes :

(1) Statement | is correct, but Il is incorrect.

(2) Statement Il is correct, but | is incorrect.

(3) Both the statements | and Il are correct.

(4) Both the statements | and Il are incorrect.

41. Which of the following correctly depicts differences between a merger and an acquisition

of stock ?
(1) An acquisition of stock results in thetal absorption of a firm whereas a merger
does not.

(2) In case of a merger, the firm can deatciy with the shareholders of the acquired
firm but not in the casef acquisition of stock.

(3) Shareholders of the acquired or targeh fvote by their response to a tender offer in
an acquisition of stock but cast a formal vote in a merger situation.

(4) A formal vote by the acquired firm’s ske@iolders is required for an acquisition of
stock but not for a merger.

42. Match the items of List-_l with the items bist-1l and indicate th correct code :

List — | { List — Il
a. Value added Model! " i. It is based tre process audit thereby evaluating the
! corporate social performance.
b. Bauer-Fenn Model ii. It takes into @emt the social benefits and costs.
c. ABT Model, iii. It reflects the impact of a business enterprise on its
(f employees, the local community and the public at large.
d. ESTs Model iv. It shows the value added by the value of production of

socially desirable outputs minus the value of socially
. undesirable effects.

Codes :

a b C d
Q) i i il iv
@) iv [ il i
3) iv iii i [
4) iv [ i iii
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39. fowm (31 AW e W UH) HHEid o A (Fiichd & 3T U UST Toha ST &

a. mmq&w%‘% |

b. THH IMa=HRS FA € |

C. U8R USH fohU IIH & 15 a6t & foTw 3i=nfires ST & fow et |
d. I8 U= URH fohu ST | 20 =t & fotw sfienfies STy & fof Tem € |
A

(1) waas’itb (2) Haeta, b3 c

(3) et a, b d (4) ¥ asiRd

40. ®HAT | GYLG HT A o IR SIS BN DA Tl & TAT AT B 3T =T STl & | A B

3T qAT &N T HAAT § T URad aqali & Farl qor STt i Tifed Hd & qr
T TR AN T I T e € |

FHUA || ; T Fo § R 31 ot sreieraeen § steumatyss URad=r o sRoT &l € |

T

(1) FFAI1TE e, fhg 1l Tod & |

(2) FANTEE, gl Tede |

(3) FUTI ARSI T |

(4) HF AR 11 I o €

41, TR O | S foer T i o SR o dd SiaY o Wl €9 ¥ fatd wr § ?
(1) i o1 AemevT et wH % T GHEYH €, STt foer var T@l § |
(2) foor@ & AW H AfRUTRAT ®Y IR ®H o YRRENE & T Y greh Y Gk €,
TR i o 3ITHTEUT o HIHA | ol |
(3) IRATEIT 3TeraT 7o HH o VIR Wi o SUUEUT H HIaRT U9reher o U 370 3Ffshar
% AT ¥ HASH R €, fohq faera & et § S HagH #Rd § |
(4) AR WH & IEERET SR Wik & R % foIu SAo=eh Tl i Seggehar gl &,

forq farera & fore =& |
42. ﬁ%ﬁlﬁﬂﬁﬁgﬁll%wgﬁﬁﬁﬁﬁTaﬁ@wwﬁ
T -1 =it - I
a TR AEA il T S SR T o e &, for R SreRe S
| HTSHHT T GeaiehT fohaT ST & |
b. SIS HiE ii. SHH QST AT X ANTAT i IHe {5 ST € |
/ C. T AEay, iii. T& AT T W AU FHANA, AT TR T FER
WKJ T Y SR T TS T Aidfeied Har g |
d. Tw@a iv. IE QTR €9 ¥ difsd SeRA % 9od B § gt ® 9 9
SIS TS % oo hl Tl R T Hod G5 hl 90T ¢ |
%
a b c d
1) | i i iv
) iv i i i
3) iv i i i
4) iv i i i
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43. You are given the following information :
X-Security Market-Security
Expected Return (%) 15 12
Standard Deviation of the return (%) 6 4
Coefficient of Correlation between the returns 0.4
What is the Beta-coefficient of security X to measure its systematic risk ?
Codes :
@ 1 (2) 1.5
(3) 0.6 4) 04
44. Lease which includes a thirdnpa(a lender) is known as
(1) Directlease (2) Sales and lease-back
(3) Leveragedease (4) Inverskease
45. Which of the following activitieshould be shown separatetythe cash flow statement
prepared as per Accounting Standard-3 ?
a.  Cash flow from borrowing activities.
b.  Cash flow from operating activities.
c.  Cash flow from financing activities.
d. Cash flow from investing activities.
e. Cash flow from nsicellaneous activities.
Codes :
(1) a,b,c (2) a,c,e
(3) b,c,d 4) a,b,e
46. Which of the following statements is correct ?
(1) The oldest stock exahge of India is OTCEI.
(2) Sensex is an index number of 30 scrips.
(3) In book-building process, the pricetbé security is announced by the company.
(4) Futures and options in shares aaglé&d at all stock exchanges of India.
47. Match the items of List-l1 (Developers) withe items of List-1l (Methods of measuring
human assets) and indicate the correct code :
List—1 ¢ ° List—1I
a. Hekimian and Zones i. Stochastic Rewards Valuation Model
b. Hermanson ii. Competence Bidding Method
c. R.Likerg lii. Adjusted Discounted Future Wages Model
d. Flamholtz iv. Behavioural Variables Model
Codes :
a b c d
Q) i i iii iv
(2) i ii iV [
3) iv iii i i
(4) iii \Y ii [
48. The concept of achieving maximum profitsough increased consemsatisfaction for
raised market share focuses on
(1) Product (2) Selling
(3) Customer (4) Production
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43. 3! TR G S TS R
X-wiferf TR A
FeaTeTT e (%) 15 12
TTATH ST | et (%) 6 4
TqeT™ o S Yeda ot 0.4
AT X & TOTeARTd SHEs 3t AT % foTT 5eh dier- T =1 & ?
ETE
1) 1 2) 1.5
(3) 06 4) 0.4
44. g Uzt SEH FERT U8T (FROTRTT) I BT §, SHeardl &
(1) wemet gt (2) ool el vgT-aTTE
(3) wietsT TE (4) oo wgr
45. G AFh-3 % AR TAR fhU T 4! HalTg foarur | fitend § o shrieretmdl sl 37 9
T ST AT 2
a. YR ol S & HEwe & THht Joe
b. UETeH HEHA H THRT T8
c. Toxdaa SEwaAM™ 9 THal UaTE
d. A FE%am d T vEE
e. fafay HEEwAT d TR TaTE
%
(1) a,b,c (2) a,c,e
(3) b,c,d 4) a,b,e
46. To=ifha o | B AT B TE E 2
(1) RS T A AT Lieh TSt 3 W Z3ME, & |
(2) T 30 IR H TH JAHD ¢ |
(3) I fafeem vfshar & wiawfa % o st =90 HEAT FRT 6 ST & |
(4) IR % T[T T S H HRIGR TR D! T e fquiori § fFar e g |
A7. G-I H AT (ATUIED) B Gell-11 B &I (A GETET & T i fafr) & @mer gafed & qen T
T BT T HY
g1 = — I
a. BIHHIAM g8 Sd LA T (RTehiedh) TERR Jodich Hiee
b. T, ii.  &THAT Sl Higet
c. R, forwd iii. GRS agrpd oo Teed died
d. TSt 4 | iv. SRR et =T diget
%
a b C d
1) | i i iv
) ii i iv i
3) iv i i i
(4) iii iv il i
48. ¢ T TSR 9N & T Fardd Suierdl Hfte o AT T o i TUehad o i TR §
=1 fohe WX e g fohar ST & 2
(1) sO= (2) fesmt
(3) um== (4) 3EA
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49. Which of the following is not a measure for quality of service for consumer ?
(1) Responsiveness (2) Competition
(3) Empathy (4) Tangibility
50. Which of the following is not a targeting strategy ?
(1) Standardization (2) Differentiation
(3) Focus (4) All of the above
51. Match the items of List-1 with items of &f+-Il and indicate the code of correct matching.
List — 1 List—1I
a. Real Needs i. Expectimgod service from car dealer.
b. Unstated Needs ii. Customer expectbaoseen by his friendss value orlented
savvy consumer. f
c. Delight Needs iii. Customer wants car at low operational cast and not initial cost.
d. Secret Needs iv. Customer recsifiee insurance on purchase of car.
Codes :
a b c d
(2) i [ \Y i
2) i iii i iv
(3) i \Y [ iii
4) iv i [ iii
52. Statement | :The firm should “stick to its nichingdut not necessarily to its niche.
Statement Il : Multiple niching is not preferable to single niching.
Codes :
(1) Both the Statements are true.
(2) Both the Statements are false.
(3) Statement | is true, but Statement Il is false.
(4) Statement Il is true, but Statement | is false.
53. A descriptive thought that a persiolds about something is called
(1) Belief (2) Learning
(3) Attitude (4) Perception
54. Deferment, Autonomy of object, use thie common place, involvement/detachment and
use of metaphor are demation of which of tle following technique ?
(1) Brainstorming (2) Synectics
(3) Forced Relationship (4) Attribute listing
55. Which of the following statements areraxt ? Indicate the correct combination :
a. A well motivated individual tends &xperience a low degree of morale.
b. A group characterized by a high state ofat@may or may not have a high degree
of motivation to perform.
c. Morale can always be built up by a combination of rewards and penalties.
d. Organizations, in general, devote moredi attention towards motivational aspects
of people’s behaviour thahe aspects of morale.
Codes :
(1) a,bandd (2) canddonly
(3) a,candd (4) banddonly
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49. Ta=ifra ® | B ST 3 feTw Fam i U HF 99 T E 2
(1) AT (2) wfcrast
(3) T (4) R
50. =i H ¥ I @78 0TI Tal & ?
(1) TR (2) forvRreRToT
(3) wwH (4) ST i
51. -1 0 AT 1 Fell-11 ol &I & A1 T h T Tt Mot aret $e 1 9 Y |
= - | =t - I
a. Aad AETIHAT . HR SIoW H TS Yol Dl SEG HEAT |
b. R MATIHA i, ITEKT FE ST FIaT § B ITF HA 39 Jivqwim ST
IR T | L
C. 3= SEaTIHT i WWWWW,?%FWWWWW%I
d. T ST V. SR % hd & GHT UM {:9]ch ST U HLem & |
%
a b C d
(1) iii i iv i
2) i i i iv
3) i iv i i
(4) iv i i i
52. ®HU| ;B B “3fo [T ¥ o A =@ife, wfe 1erd w9 9 o e | @
HU || ; Tkt YN St 3TUeT SgeT M 1ed e et ¢ |
% !
(1) SHi P T E | (2) T FEE TAT € |
() FIWE g P T e | (4) FFI W, fohg FU | Mo
53. ferdl cafert o1 fepdlt o o o o feeRuTenes fore sheetrar &
(1) Tavam (2) =
(3) gt (4) sEERoT
54, fooTeE, o] i W@Edl, G S $T SN, SHe g1/ 3ol Te-T q1 T 1 SUanT g
Aehiieh T feeoT & ?
(1) s (2) feHfre
(3) ord Hay (4) ETT TR
55. fifhd § i 9 U Tel § 2 Tel T h I
a. UH GURA Al HH A T 3T FAT ¢ |
b. Wﬂﬁaﬁ%ﬁseﬁwmﬁ%ﬁﬁwﬁwwﬁWMWﬁaﬁ%mﬂﬁﬁ
|
C. TGSl UM QEHRI T JUSH & WA §RT IR ST obell ¢ |
d. 9T 9§ GeA T % TEe]3l i 3TUeT Tieh SFeER o WRUTCHe Tec] 3l W Wedled &
Y sk A 3 € |
FT
(1) abs3ivd (2) ¥ae c 3R d
() acaid (4) et baRd
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56. Assertion (A) : Organizations are ineasingly getting de-jobbed.
Reasoning (R) :Jobs are becoming more amorphausg more difficult to define.

Codes :

(1) (A) and (R) both are correct but (R)not the right explanation of (A).

(2) (A) and (R) both are not correct.

(3) (A)is correct, but (R) is incorrect.

(4) (A)is correct and (R) isght explanation of (A).

57. Which of the following statements relating to incentive payments is correct ?

(1) In Halsey incentive plan, bonus paid twaker is equal to 50 percent of time saved
divided by rate per hour.

(2) In Rowan incentive plan, bonus paid to employee is equal to the proportion of the
time saved to the standard time.

(3) In Taylor's differential piece rate sgsh, a worker whose output exceeds standard
output is paid 100 per cent of piece ratedl a worker whose output falls short of
standard is paid onl§0 percent of piece rate.

(4) The Rowan incentive plan is the baseall other incentive, payment plans.

58. Match the most common rating errors maderduperformance apprsal with their right
explanations. Indicate tleode of correct matching. )

List - | ListEn

(Common Rating Errors) \ (Descﬂp‘tiOn)’l

a. Leniency I I:S‘ubjective assessment

b. Halo error q‘ii..,-_ One aspect of individual’'s performance

' I influence his entire performance
c. Spillover effect ©ii. Past performance appraisal ratings
5 unjustifiably influencing current ratings.
d. Rater effect ¢ 7 Iv. Favoritism and stereotyping
Codes :
a b c d

Q) i i iii iv

(2) i iii iv [

(3) iii iV i [

(4) iv iii ii [

59. Which one of the following industrial relatioapproach believes state intervention via
legislation and the creation afidustrial tribunals as supping management’s interest
rather than ensuring a balance between the competing groups ?

(1) Unitary approach (2) Pluralistic approach

(3) Marxist approach (4) Judiciary approach
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56.

S7.

58.

59.

Frfiremer (A) : T2 G § Ge % ed B TR € |

% (R) : F s a3k aRiid s § qEe eid ST @ € |
FHT:

(1) (A) 3R (R) I Tl &, g (R), (A) I W&l = Fal € |

(2) (A) 3R (R) I Tt T&l & |

(3) (AT E, g (R)Ted € |

(4) (A)TEE 3R (R), (A) I T&l AT E |

AT AT o Heie o F=Aifeha o | i 9T 5o T&l & ?

(1) o™ Weded I5HT § fRdt SR i I 6T T S99 98 3t §9d o 50 Waerd i
7T 5 T T ot ST ST & sRIsR i ¢ |

(2) o W ASHT | foRdt HHART 1 JIaH AT 71 S99 JHH TG0 Sl qoT § 9d
fohT U g9 % U & T BT € |

() R & foviss goa X UoTel H Fohdlt TR, ST SeameT Oeh Seaied | 21fueh il &,
T THE I H 100 WA H A AT STAT & T NG IR HT SR THH & FH
2T &, S ThTE ST haed 50 U 1 A fohal STar € |

(4) o i W ST I T WehTe A FIST1eT 1 3MER € |

H R Jodi & IRE B T FAlth A SEE qfed B SHw Wal AR & 9T
et Y | TEt et oot e 1 T Y |
Teft — | i
@mT= Sifvrae 3fe) . (ﬁ?m)* ‘
a. SR i. Al STk
b, e A T ot e 3 7 Frome o1 o o] S
VA o e e o e e €
c. ferctetieR yue i, o % fremee goaie o sHfaa
. T § gaaE A0 aied S € |
d. SforEsRal QRO - v, G qe gl
% :
a b c d
1) | i i iv
@) ii i iv i
@3) i iv i i
4) iv i i i

=it & & fpg SfEfiTer oy SUFTH | WiaeTel 99 % S Gde gHeed #E % S
T % f&d F FeH & [ T qen SR ST & e o Hrew W INT % gy o
Torgams fopam ST & 2

(1) UHeTER! N (2) AR IUFTH

(3) TTRIETRE! UNTH (4) =IFUICTHT IUTTH
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60. What is the term coined for the systemcommunication and consultation, either formal
or informal, by which workers of an ongaation are kept infoned, as and when
required, about the affairs of the undertakamgl through which they express their opinion
and contribute to decision-making process of management ?

(1) CollectiveBargaining

(2) Empowerment

(3) Workers’ participation in management

(4) Welfarestate

61. Match the items of List-1 with those of LiHtwith regard to opeitase functions of HRM
and indicate the code of correct matching.

List — | List—1I _f*‘ )
a. Procurement i. Performance appraisal i .
b. Development ii. Discipline
c. Integration lii. Induction
d. Maintenance iv. Personnel research
Codes :
a b C d

Q) i i \Y iii

(2) i \Y ii ii

(3) ii [ i iV

(4) i ii [ )Y

62. What is the popular term used for that tygfeoption in ForeigrExchange Market which
provides the holder the right fmurchase or sell foreign mency at the most favorable
exchange rate realizedenthe life of the option ?

(1) Forward reversing option (2) Preference option

(3) Look back option (4) Basket option

63. What is the term used popularly for the silatwhen a speculator, being dominant in the
market, expects a drop in the value of atipalar currency ande begins selling it
forward ?

(1) International Fisher Effect (2) Bandwagon Effect

(3) Interest Rate Parity Effect (4) Relative Version Effect

64. Identify the correct statement.

(1) The Maastricht Treaty signed in Feary 1992 renamed European Community (EC)
as European Economic Community (EEC).

(2) The main objective of the formati of ASEAN Free Trade Area in 1993 was to
soften the restrictions on the movemehtprofessionals in the region and helping
poorer countries.

(3) The SAARC is a regional groupinghg&me among Six South Asian Countries.

(4) The European Union, including Eusgm Monetary Union, was the biggest and
most important regional integrative scheme.
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60.

61.

62.

63.

64.

e STpel =N Targ Ue foram-famst st Yot & feu a1 ¥/ s=man 7 €, 5aes
FRT SUHA % HET o R H {hdl TeT & HHARET i FAUlTd €7 & grad @1 S & e
ST g7 o 3T T e Y & T Wee ol (HUTA-UTshar H ANTEH i & ?

(1) e Hea

(2) GwIeRTHIOT

(3) vEY § HH=IRET YRR

(4) HEOHRI T

S GO [T o Gisharcae it & Feie | gell-1 77 Gai-11 Bt 781 Bl GafoTd e ol Tl
T H T HL |

= — | =it - I {
a. 3AeumgoT i. R o f i
b. fawm ji. TR
C. UG jii, AT -
d. @WI@E v, ST g 4 {
FT

a b c d
@) ii i iv ii
@) | iv ii i
(3) iil i i iv
) i ii i iv

fagett fafToa SR | 39 fosheq & fow o Ui 91s3 ST &iaT € ST 4R i 3SR a1 & 6
TE TP Bl A F IR FaAS Pl [FF-T9F X T 89l qoT1 6 SRS a1 99 ?

(1) wReE Rafa sfwm (2) TUwET Sfw=

(3) P % AT (4) dTEhe STEH

39 ferfd & e fore i o1eg ot ST foell ST & 7w Uk et ISR | TTeemelt 89 &
HRT fohd e q5T % Jod | R %t ST FaT ¢ 31K 9 30 JasT § ST 96 6 3T § 2
(1) =TS THER e (2) SEaTE T

(3) TR T UiE ma (4) Teifes T v

TE HAT B TR

(1) W, 1992 § gE&AeIRd Agd dfY § JUuas ®gel (EC) 1 AW a8t JITua
IS HHe! (EEC) T &ar mar |

(2) 1993 ¥ A Yo AR &7 A HT 29T &7 | U9ER AR o TR W T Aicfae
H T AT 3R TR I N G FHAT |

(3) ek D SR ufvrEng I % s U & i @i o

(4) FAfEA Hifge T Aied AT T Fa9 TSt 3R Faiis Fewequl &E e @hid § |
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65. Match List-l with List-1l relating to benefitand cost of economic integration and identify
the code representing correct matching.

List—1I List -1l
a. Trade creation i. Movement gfroduction and resirces in opposite
directions.
b. Trade diversion ii. Become aaivwhen a member country does not

augment export but simply shifts its imports from low
cost source to high cost source.

c. Trade deflection iii. Shifting the locus of production from high cost to low
cost centre within the union.

d. Polarisation forces iv. Goods producedithird country entering a free trade
area through a member country having lower tariff.

Codes :

a b C d
Q) i iii iv [
(2) i iv i iii
(3) i [ iV ii
(4) i ii [ iv

66. What is the situation referred to as, amongst the following, when intra-region trade is duty

free but there is variation in tariff stwre for import from a third country ?
(1) CustomgJnion (2) CommorMarket
(3) Free Trade Area (4) Economic Union

67. Which of the following statements is not @t relating to comparison of FDI with trade ?
(1) Only one market can better $erved with differentiated products.
(2) FDI overcomes tariff and traport cost involved in trade.
(3) It reduces financial risthrough greater diversification.
(4) It creates harmoous political relations.

68. Match List-I with List-1l regarding the grouping of MuHnational Corporations and
identify the code represting correct matching.

List 41 List— Il
(Type of MNC) (Basic feature)
a. Ethnocentric firms i. Maintain a balance in home and host
f market oriented policy.
b. Polycentric firms ii. Seldom distinguish between domestic
& global operation policies.
c« Geo-centric firms iii. Follow a host market policy.
Codes :
a b c
(2) i [ i
(2) i i [
(3) i iii [
(4) i i iii
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65. 3P THFHT & T SR AN & T H Gel-1 BT A GEl-11 ¥ BT 3T Tel BeT i 90
aret e H TETH FY |

= — | = — I

a. =MNR g5+ i, SoUEA 3T TQTEET T HEer ol fen 9 g ar € |

b. =R U ii. 9 HT GE I AR Tl q@IA & UG 96 T AW
Al Y AT % AT F o0 AR G § gRafad Y o &
T AHT & A & |

C. MR TaeimoT ji. 99 & SR & fag u% F 3= g § HH A |
3TANT BT |

d. YRR drehd iv. A <9 H Seied SRy FH AR el e 9 5 e
T TR AR &35 H WoleT Al & | y

%

a b c d

@) i i iv i

) ii iv i i

@) iii i iv i

(4) ii i i iv

66. e & § ®F 9@ fofq tf & 99 orR1-819 =R |99 ok 99 € W gdid 59 9
3T & Wk TITAT | 3R § ?
(1) S 3ok 9Y (2) THRT AR
(3) I AN &= (4) enfees Ea

67. IR % TN TH T 3T B I & Gag § FeAtairad § & i 91 29 Tel el ¢ 2
(1) TovIgE SR & [T Hae T & ISR | JgaR &1 | a &1 57 Fehelt € |
(2) UE St 3ME AR H INHeT UR[edh Y URe ANT il 9 HIel & |
(3) e 3tk Tafaedientor & Aream § foxi SHfEy = &9 BT § |
(4) T TETEYYT AT e T € |

68. W@aﬁﬁ%wﬁ%wﬁaﬁlwmﬁaﬁnﬁaﬁmaﬁraﬁ?wmaﬁﬁq |

=+ | = - I
(ag'{'nz’izramﬁ}%um (ST fasteaT)
a. T S . T 3R USEM aNR Sl Aifd § Sqer
FACME |
b. a@gﬁ%ﬁﬁ‘ﬂ%@ﬂ ji. =] SR astaeh yeTe A & e
FIR & SR FATE |
Co Job1T TR jii. AT AR AT T S AT Y |
%
a b Cc
(1) iii i i
) iii i i
3) i i i
@) ii i i
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69.

An equipment was acquired at a cost3oflO lacs and was put tose in Scientific
Research. After one year of research tpgiment was brought into another business of
the assessee. For charging depreciaBtock of Assets shall be increased by

(1) T 10 lacs.

(2) Market value of the equipment on tiege it was brought into another business.

(3) Cost or market value of the equipment, whichever is less.

(4) NIL.

70. If an assessee is engaged in the businegsoafing and manufacturing tea in India, the
portion of agricultural incme in that case shall be
(1) 100% (2) 60%

(3) 50% (4) 40%

71. Which of the following statements is not correct ?

(1) X is an individual assessede pays a monthly rent & 10,000 pm. He cannot
deduct tax at source.

(2) On salaries, tax is deductedsatirce according to provisions of Sec. 192.

(3) No tax is deducted at sa@erin respect of interest oraurities issued by a domestic
company. ,

(4) Bank will deduct tax atosirce @ 10% if bank fixed depdsiinterest credit is more
than¥ 10,000 in a year.

72. X donated® 20,000 to a charitable institution, which is eligible for deduction u/s 80 G,
during the financial year 2015-16. Histabincome during the period w&s1,50,000.
How much deduction he can claims u/s 80 G ?

(1) 7,500 (2) 10,000
(3) 15,000 (4) % 20,000

73. X is employed in a private company at a salar§ 0,000 per month arfd 10,000 per
month as dearness pay. He recei¥e2]000 per month as house rent allowance. He paid
¥ 2,500 per month as house rent. What isetteampted portion of hoagent allowance ?
(1) 2,500 (2) ¥ 2,000
(3) 1,000 (4) NIL

74. Surcharge is payable by an indival where the total income exceeds
(1) R10lacs (2) ¥ 25 lacs
(3) 50Ilacs (4) T 1crore

75. Which one of the following statements is not correct ?

(1) A person may not have assessable income but still be an assessee.
(2) In some cases, the assessmentgedrthe previous year can be same.
(3) An Indian company ialways resident assessee.
(4) Surcharge is additional tax calculated on total income.
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69. T 10 @M@ =l AN ¥ U UK TRT T 3 ITHT ITANT M-k SHE | foham mam |
3THYE % UF a9 915 X iRl & 31 Hedg § 39 U0 Sl Al T | Jodgd wia
FH & ToTT enfetat & seiteh | gieg gt
(1) % 10%m@
(2) 519 GRIE FI ITFIOT 31T ZEHE T T T 36 JRE T STHT o SNTR god & I
(3) USRI H AN TS AR God H & S off 7 &

4) ==

70. A HIE H FUIRIT IR § =T ST 31T TEEH0T HT GG AT §, af 39 i § H 319
fean i 2
(1) 100% (2) 60%
(3) 50% (4)  40%

71. fr=fefed 9§ @ &9 o1 FoF 98t T w2
(1) X T AR # Hiiia € | 98 uid 91e ¥ 10,000 T 1 T Xl § | 58 id I
T Bl FHeldl Tal BT T ¢ |
(2) &1 1927 IUSHT % AR AqT T H Bl Fd T HIA bt ST Fehell & |
(3) ERe] HUA FRT SIRT Uil W) =T o GaY | Al U el el bl Sl |
(4) =T g% % Gy S W UH a9 § T 10,000%(d a9 F 2 A1 ST 8 &, af a3 10%
% T FIA T FKdl HAT |

72. X 3 U g @ i T 20,0005 U S i fomi a9 2015-16 & oW 9”1 80G % 3=va
I BT U & | 3T AT & IR 3T Fet 317 T 1,50,00080 | 98 &RT 80G & = Teheft

T T AT H TheT § 2
(1) 7,500 (2) % 10,000
(3) % 15,000 (4) % 20,000

73. X, ¥ 70,0007 e % I W T s HoAr H AT & 3R 98 TEe 9a- % w9 § ufd A1
% 10,0000 & | 3¢ T o ot % &9 H T 2,0000fd Al U & € | 978 Wi e T [T &
w9 H ¥ 2,500 PTAH FIAT & | 30 T8 [RTar 9 o S U A 7§ 2

(1) %2,500 2) 72,000
3) 21,000 4) =
74, THE AT SR AR 37 BT §, 59 ol 37 et § | fha a1k et § 2
(1) % 10ww@ (2) T 25°m@
(3) 50w (4) T1wIg

75. frefofed § & %iF 91 Fe T @ g 2
(1) 3 ot =atert i &Y TuRoT v 3 6t € o ot g 6 it e |
(2) T A § Fodich a9 ST Yeed Iy s THH & GehdT § |
(3) TUH IRAE HEA Gad Hard! s iRt g |
(4) SRR FoT 3T W RIS & |
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